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QUESTION 1

Immediately after installing ESXi, an administrator observes that the Configure Lockdown Mode option is 

grayed out in the Direct Console User Interface (DCUI). 

What is the most likely explanation? 

A. The host has not yet been added to a vCenter Server. 

B. The BIOS on the host does not have NX/XD enabled. 

C. The ESXi host is running in evaluation mode. 

D. The host requires a reboot before this feature is available. 

Correct Answer: A 

 

QUESTION 2

What two virtual hardware devices can be added to a powered on VM? (Choose two.) 

A. Virtual disk connected using SCSI controller 

B. Virtual disk connected using IDE controller 

C. Network adapter D. Serial Port 

Correct Answer: AC 

 

QUESTION 3

What is the maximum supported number of Virtual SCSI adapters per VM in vSphere 6.5? 

A. 8 

B. 4 

C. 2 

D. 6 

Correct Answer: B 

 

QUESTION 4

A vCenter Operations Manager 5.7 environment is upgraded to vRealize Operations. After the upgrade, 

the analytics services fail to start. 
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Which three steps must be taken to resolve the problem? (Choose three.) 

A. Take the vRealize Operations cluster offline. 

B. Delete the activity persistence files. 

C. Bring the cluster back online. 

D. Remove any unresponsive nodes. 

E. Stop the CaSA service. 

Correct Answer: ABC 

 

QUESTION 5

Which template captures the state of a vSphere virtual machine or vApp into a self-contained package and compresses
the disk files in the sparse format? 

A. vSphere Virtual Machine template 

B. OVF template 

C. VDP VM Backup 

D. Virtual Machine Manager template 

Correct Answer: B 

An OVF package captures the state of a virtual machine or vApp into a self-contained package. The disk files are stored
in a compressed, sparse format. 
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